(2) (#e#k+than+A) - TA LV~ L) EBE,

Canada is large. (I Z1% REWV,)
Canada is larger than Japan. (B FZIXAARLD KEL,)

Ken runs fast. (ft i WS EYET,)
Ken runs faster than Emi. (f3faE L0 HE<EY F9,)

Yok« Flek A W SUIF CREZ R IR0 N E E A 5 Z LN TEET,
FIziE, IRELVEETHH L) ZRTFVHFRIROLIICAEY HY T,
Ken is older than Emi. (f3#aE LV FEL L >TWVD,)
=Emi is younger than Ken. ({23513 & 0 £\>,)
=Ken isn’t as young as Emi. (fFfa3E£1E EH < R0,)
=Emi isn’t as old as Ken. ({23 T EFEZ L > T RL,)
B bk o FROGRIC cest B H & [—H~] L0 Bk ERTR BRI R Y £,
(i LARORIIC the 22 E9 23, BlRAIO K EFOBEIT the o0 R\WI L bbb £7,)

(1) & EREDOIEY 7 - HANIHESFROHA LRI L TTN, -er D2 VT -est ZOIF £,
O 529 IFEEDFERIZ -est Z21F % [#] old —oldest, long —longest, fast —fastest
@ JF#LDOFERN e DFEIL, st 72T &Z 217 % [#] large —largest, late —latest

@ R OFEREN FERE+ 5T OfEIL. FEFLZENAT est #2175
[#1] big —biggest, hot —hottest
@ FEHhROFERY (FEF+y) OB, y X 1T Z T ~est 21T %

[#]] happy —happiest, easy —easiest, busy —busiest, early —earliest
(2 (the +iz B+ in(of) +A) - TADOHT FH~] LI ELR,
OAIZX Y in ZHWD D of ZHWDE DD RED 97,

in+ 35T - HHAk [#1] in Japan(H A D H T), in my class(FAD 7 Z ADHIT)
of +H% A £ 58N [#]] of all the boys(4TH/VHEDHT), of the five(Z D 5 ADHT)

Tomis  tall. (b2 BE,)
Tom is the tallest in the city. (h2iZ Zomh OFT EEE,)
Tom is the tallest of the ten. (FAEZD T O ADHT FHIEH )
Ken runs fast. (fat WS ED 7))
Ken runs (the) fastest in my class. (X s T2 OHRT - FHH<EY ET,)
Ken runs (the) fastest of the boys. (X2 DODELHEOHR T R EY £7,)
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